POWERED BYI!
1l

ENDURA

DOOR COMPONENTS MADE IN THE USA

e S LY
Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

813.659.9197

112.25" MAX. OVERALL

Opaque Fiberglass Door

P.O. Box 230 Valrico FL. 33585

BUILDING CONSULTANTS, INC.
Phone No.:

Documents Prepared By

TEXAS BOARD OF PROFESSIONAL ENGINEERS
CERTIFICATE OF REGISTRATION # F—11852

J
"NON-IMPACT"
INSWING / OUTSWING | ﬂ] B
22
&
=
D) < g"z”
O - (ZD 5 5 5 &
35 g2 R
2 23 R
5= 92 O © O 9 2
& %5 : 5 |¥ g8
o =29 X © a ol =8
> inT e} ® [0
NY Sy £ g 0%
(e8] —
< wa
EVALUATED FOR USE IN THE STATE OF TEXAS TD ’ D R '85 1 &£ & g b
The Fiberglass Door system described herein complies with the 2018 International
Residential Code {IRC), Sections R301 & R609 and the 2018 International Building W
Code (IBC), Sections 1404.13, 1609, 1709.5, 2403 and 2404 subject to the following S
conditions: Q
1. Anchors shall be as listed and spaced as shown in the details. Anchor S "
embedment to base material shall be beyond wall dressing or stucco. @ |z
2. When used in areas requiring wind-borne debris protection this product is © [
required to be protected with an impact resistant covering that complies QR &l
with Section R301.2.1.2 of the IRC and Section 1609.1.2 of the IBC. S o
3. Allowable design pressure requirements must be equal to or less than the W
design pressure rating shown in the design pressure chart, sheet 1 of this 'g
4. drawing. 8
Conditions not covered by this drawing are subject to further engineering S
analysis. }L!_,_J
Ti<
TABLE OF CONTENTS RE
SHEET # | DESCRIPTION - g
; ;y:;zl;::/::;‘ss, design pressures & general notes OXO INSWING + 4 5. o . 4 5 O p—— /02 /1 5
- T - SCAE:  N.T.S
3 Slidelte panel detais {lip fite insert glazing) .
4 |Horizontal cross sections Oxo OUTSWING +60.0 -60.0 DWG. B: JK
5 Vertical cross sections o _ CHK. BY: LFS
6 | Vertical cross sections DRAWING NO.:
7 Frame anchoring TX—4646

SHEET _1 oF 7

ZA\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-851 Plastpro FG Opaque (LK,DB)\C - Drawings\TX-4646.49.dwg




ON| BANVLINSENOZD aNIaung ‘m'd 9102 @

ZS8LL—d # NOLVMISIORN 40 ILVOLHILNIO SNOISIAGY
SYIINIONI WNOISS340¥d 40 QuvOo8 Svxal m.uﬁwu% .Wﬁm%@ovmo Ad 3ivd [ON}jw » 7_
L616°659°CL8 'ON 9UOUd : s41]_3d00 o¥i/oal 8oz ol divadnliz/iL/ii] 1 IN|XS|w) S
GEQCL 14 OOUIDA Q€7 xog .O.lgg .*vasémmm( 0 ._-m<& AW m . % o
"ONI 'SINVLIINSNOD ONIaNNG N g v_A 2~
|, |5]|8]g &
€ZLPOL# "3'd SYXIL VYNAN4 i m S| s &
‘T'd IPIIYSS ‘4 uopull Ag peJdpdeld sjuewINDOg 119NaoNd Z W 5 w 5
oL
O
o
S =
~ . >< ‘
ﬁfﬁﬁﬁ/ﬂr‘.ﬂf«( :N — i :N — m
e
O
P e IS s a ] v = - “
5 O C a Aoy . Ve . : [ v 9« F oo ....n_ * s
v”.: Y .b. - Tt » I_ , . Y 5. da Ac ..1 " ma o
Ce A ® b LS " P . . L - S QL
h B 'y ) ?v S .. v - m\. ¥ < N - - l c.ziy e .. « M
oc
— 2=z O
M o W S o< ) w
58 e & 3 3
°C 23 2 Q 2 ey
i) 3 W
50
@ C
u.4 j—
S Q
o
b o O
= |
% ~
o =
S
/.”_\
=
&
} H
; i O
“b. »u s W
<0 b;
S .
.’ .. - * R £
-3
L. Lo .PA
b4
A, Iy
R i N
u . ».. m
e =
A e
4 p L]
» - [ 72}
a /0/ + bOn
o [+ 4 C
O o] M
o2 0oz
= = ..M
S¢ z
i = 0O
—\\ ~
4 ) 4/(« .. m
. ; b
PR AR .
- . . 0
. . . . mw
v
et 9Ty
‘ ..4 <
4..4. g g
v o "y
R P Z
.. < A _ =
q v \lﬂu
- v %)
: g o
- Poeg o mo,
TR = <9 <88 £z
e = ..M =z £ X ” £0 = mnu
A . y 5 1N n & .m Q N [
sl B 3 % o 2u
< 1... .y 1w o D m NAH
« L ., . .h\.m\\ m - w H
F QO = oz
> L2
« = <3
T s Z o
o i 3
e -~ L
© WSLL - LHOIIH TANVd XYW .86 & =
L4
QO
O
23

BMP 6t 9r9r-X1\sBumelq - J\(ga ) enbedo D4 oidiseld 158-4a - 1QL\sul 30 1daq sexa), - S\LNINVINYId BINPUINSIUSID\'Z



g
.l o7 EXTERIOR 28— ,, 43 "
04— |=— =04 2 g g
R R N " ] A by g8 gy
R S T 1 v £ b L _"dg Y
el e g ; R 9 5 g 5 2
P NI | 1= ' = : i 28z 85
\‘ﬁ«‘: - -':1 - ":;4 S D BN B R 7 { ‘ TOP RALL | 7 g §§ %F
cAP(PVC)  \ XU (COoMP) 25 L
STILE (LVL) INTERIOR STILE (LVL) CAP [PVC) & x5 ¥
P zZd, 6y
2 3 G & o’
/" 1"\ HORIZONTAL CROSS SECTION £ Bet 2%
w - 4 3 § o ic
MR L &~ c E
FIBERGLASS Lot - £ Q§ 33
DOORSKIN |8 ».;. g
-. - o
AR
35.75" MAX. PANEL pox 11/ T e )
> o 'MAX. 2 o0
1 D.L.O. WIDTH | INTERIOR —— 1/2" OVERALL GLASS THK. g |y o
, / 2 |3 §2
A Ul = =
! . S | 1/8"TEMPERED GLASS v g o
(1N 4 b e 3 GV it | EEES
Y, 7 — S %:’AIR SPACE S 3 & 5
N INTERIOR 2 =
! - \ 1/8" TEMPERED GLASS T EXTERICR 2 &
ot ¢ | ,II o n.
O 5 ‘ EXTERIOR STEEL SPACER "0 ols-
5 == " QSO SEALANT =ij@
0. o) o
% . b R (G Suatme pena 3
= %: f‘" PR g
o - = FOAM CORE et d S| |
2 3 \ " 1 "'4 . g =
w in N . © %
S ‘< v o =
// ~ 4 .. 3 ‘A s N gl
N 4// . . . L\) K '9
e E— e — T < Dt K
‘ A <
3.25" - A Ta. : o’ DQ.
(TYP)"J - R T . =
2 ODL LITE FRAME f et RE
e JO S “,‘. K T .l >C<)
BOTTOM RAIL—||.% . -2
. SIDELITE PANEL 1.38" (COMP)) I s
Plastpro oatE: 11/02/16
Fiberglass ODL LITE FRAME z:zfm : N.Tf:(.
‘ HP Polypropylene /"2 "\ VERTICAL CROSS SECTION =
\'?_’/ CHK. BY: LFS
. DRAWING NO.:
SIDELITE PANEL SKIN: FIBERGLASS (0.075" MIN. THICKNESS) TX—4646
CORE MATERIAL: POLYURETHANE FOAM (1.9 PCF MIN.) o 3 o

Z:\Clients\Endura PERMANENT\B - Texas Dept of ins\TD! - DR-851 Plastpro FG Opaque (LK,DB\C - Drawings\TX-4646.49.dwg

© 2016 R.W. BUILDING CONSULTANTS INC.



e bt i
SoeRE
5 5 E AN £ S EX B U8
s : ; 6 . . Z -
- SIDELITE PANEL / EXT. SHEATHING - 2 s %{g NI oy 9B ey
> ol LIS Wag Yy HFEO
/ l I ! l / R R R RN {‘1, o, H _E - £ <o (<] 8
' ' S S N V. 0 T 2D e A 4 45¢ 7
a4 a4 KRR g% Bb
/ . ’ \ Winadoes® s 38% 28
g »/,»/im{///z//,/ewf o o x g o. E
o > 0 L
2 Smo Ok
2X FRAMING 5 g-g .o
m S ﬂ) / (G >=0.42) g g 2£ gg
| v #8 X 2.5" COURSE THREAD _/ J - S 89
\4 l O DRYWALL SCREW " A \ 5 gk
O m °‘ o | (See Note ]) o A g @ ] "6"
©
X 4 @‘Q N \ / Do
\ | ] \
\ L DEADBOLT: KWIKSET SIGNATURE SERIES — \ T
/ / | (760/3%5] INTERIOR — T~
/// /// - LATCH: KWIKSET SIGNATURE SERIES _/ DRYWALL « "
/ / (991) JAMB : g .3
#10 X 2.5" PFH S =S
1/4" MAX. WOOD SCREW 5 ol 55
SHIM SPACE 2 9z ]
=z N
o RlE S
> b q 4 - CORNER PADS (TYP.) &l 9 %g
1"\ HORIZONTAL CROSS SECTION B M
5 /3\ ﬂ\ m 2 W Outswing shown - Inswing also approved é e
&/ NS g |z
&
0.78" ~i—-—-[ e 1.5" —=] =
Lt
( #8 X 3/4" PFH SMS 4" HINGE §
) ) DOOR PANEL LATCH STRIKE PLATE
#8 X 2.5" PFH WOOD SCREW #8 X 1" PFH SMS Q
N
o 3
% o sl =
g = D d ‘ \ —~ ] @
) Sl N 7 S i Z AV of [
| R y ’ '-_; SRR -~
4 I \ v DR R \A)a\\». =
/ ' ik - ,/ % 3
#8 X 2.5" COURSE THREAD / ENDURA WE’(\(;QEESEELS i~ IN \ S
DRYWALL SCREW DOOR PANEL SIDELITE PANEL i e
Jl hnd =]
—] 125" |=— —25 (See Note 1) #8 X 2.5" COURSE THREAD =
DRYWALL SCREW -2
JAMB / HEAD FATBOY MULLION (see Note 1) =z
PINE PINE pATE: 11/02/16
4-3/8" FATBOY PINE MULLION | o NS
DWG. BY: JK
N 4-3/8" FATBOY PINE MULLION | Fr—
NOTE: 2 HORIZONTAL CROSS SECTION /3" HORIZONTAL CROSS SECTION DRAWIG 6
1. Spacing for sidelite screws: 6.5", 38.5" U w Outswing shown - Inswing also approved TX—4646
and 69" from head fo sill (3 fotal). e 4 o 7

Z:\Clients\Endura PERMANENT\B - Texas Dept of ins\TDI - DR-851 Plastpro FG Opaque (LK,DB\C - Drawings\TX-4646.49.dwg

© zo016 R.W. BUILDING DONSULTANTS INC.



Z:\Clients\Endura PERMANENT\B - Texas Dept of Ins\TD! - DR-851 Plastpro FG Opaque (LK, DB\C - Drawings\TX-4646.49.dwg

EXT. SHEATHING \

174" MAX.

SHIMSPACE |

DOOR PANEL —\

EXTERIOR

7“1\ VERTICAL CROSS SECTION

\\

— 2X FRAMING
> (G>=042)
/— DRYWALL
L #10x 2.5 PFH
1 WOOD SCREW
»a 00D SC
- . M
DZo
SEE
t HEAD
ENDURA WEATHERSTRIP
(QEBD/PE 650)
INTERIOR

W Outswing shown - inswing also approved

2X FRAMING
(G >=0.42)

DRYWALL -\ 3

174" MAX.

SHIMSPACE |

1.

/— EXT. SHEATHING

— #10 X 2.5" PFH
WOOD SCREW

SIDELITE PANEL —\

#8 X 2.5" COURSE THREAD
DRYWALL SCREW
{See Note 1)

7

0.15"
C'SINK
(TYP.)

INTERIOR

7“2\ VERTICAL CROSS SECTION

1/

EXTERIOR

W Inswing shown - Qutswing also approved

P V5 Z

Lyndon F. Schmidt, P.E.

Spacing for sidelite screws:
&' from each end (2 total).

TEXAS P.E. #104123

BUILDING CONSULTANTS, INC.

Documents Prepared By

P.O. Box 230 Valrico FL. 33585

Phone No.: 813.659.9197
TEXAS BOARD OF PROFESSIONAL ENGINEERS

CERTIFICATE OF REGISTRATION # F—11852

)
=
o
5
Y]
»
E |.9
2 |Ho
o
pd fra}
) = O
8 o
23
X "s
= o
S S| &
=
Q =
el |E
o o.
O
Llm

11/11/21{UPDATE TO 2018 IBC/IRC CODE

1

oate: 11/02/1

e
S
o
z
6

scae: N.T.S.

DWG. BY:

JK

CHK. BY:

LFS

DRAWING NO.:

TX—4646

SHEET 5 oF 7

REVISIONS

© 2016 R.W. BUILDING CONSULTANTS ING.



Z:\Clients\Endura PERMANENT\B - Texas Dept of Ins\TD! - DR-851 Plastpro FG Opaque (LK, DB)\C - Drawings\TX-4646.49.dwg

DOOR
PANEL \

ENDURA
DOOR SWEEP

#10 X 2.5" PFH WOOD SCREW OR

1/4" X 2-3/4' DeWALT OR TW CONCRETE SCREW

/"1 "\ VERTICAL CROSS SECTION

\U Inswing Adjustable Threshold

1

6

#8 X 2.5" COURSE THREAD

DRYWALL SCREW A S
(SEE NOTE 1) N
INTERIOR

SIDELITE
PANEL

#10 X 2.5" PFH WOOD SCREW OR

L\ Y

DOOR
PANEL\

ENDURA
DOOR SWEEP

/ (DBK-ZAC)

INTERIOR

#10 X 2.5" PFH WOOD SCREW OR
1/4" X 2-3/4" DeWALT OR ITW CONCRETE SCREW

/ 2"\ VERTICAL CROSS SECTION

1/4" X 2-3/4" DeWALT OR ITW CONCRETE SCREW
/ 4\ VERTICAL CROSS SECTION

INSWING ADJUSTABLE THRESHOLD

W Inswing configuration

- 4.56"

ZAIL4565

INSWING ARTICULATING THRESHOLD

2 INSWING ADJUSTABLE THRESHOLD

TAI4565FN

4.56"

INSWING ARTICULATING THRESHOLD

ZACL4565

|

@ IAC4565FN
%
i\r
f

@

| 456" | ! 456" |
OUTSWING THRESHOLD OUTSWING THRESHOLD
IOBL4565 12 ZOB4565FN

W Inswing Articulating Threshold

PANEL

#8X 2.5" COURSE THREAD ——— 7 II':@[?

SCREW w2 7 |

DR{Q@&)TE 1) & //4 Mé
EXTERIOR

SIDELITE -7?*—
N ‘

ENDURA WEATHERSTRIP

e N i e 3
- K‘"K
QF
..
3
.
* %

= SRR L s
N win F ?‘&(35:‘
s

iiyadans

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

NOTE:

#10 X 2.5" PFH WOOD SCREW OR 1.
1/4" X 2-3/4" DeWALT OR iTW CONCRETE SCREW

7“3\ VERTICAL CROSS SECTION
\6_/ Outswing Bump Threshold

7

#10 X 2.5" PFH WOOD SCREW OR
1/4" X 2-3/4" DeWALT OR ITW CONCRETE SCREW

/"5 "\ VERTICAL CROSS SECTION

w Oufswing configuration

4.56" !

3 INSWING ADJUSTABLE THRESHOLD

i

LAILAA4565

| 456" |

8 INSWING ARTICULATING THRESHOLD
IACLAA4565

| " |
* 13 QUTSWING THRESHOLD
ZOB4565RDS

P 4.56' ———1 { 456" |
(4) LMo AbyusTAsLE THaEsHoLD 5" INSWING ADJUSTABLE THRESHOLD
ZAIAA4565FN ZAI4565RDS
[ 456" | ! 456" |
o) INSWING ARTICULATING THRESHOLD 70 INSWING ARTICULATING THRESHOLD
IACAA4565FN ZAC4565RDS

] MAX. DESIGN PRESSURE = 55 PSF

Spacing for sidelite screws:
4" from each end {2 fotal}.

P.0. Box 230 Valrico FlL. 33595

Phone No.: 813.659.9197

BUILDING CONSULTANTS, INC.
TEXAS BOARD OF PROFESSIONAL ENGINEERS

Documents Prepared By

CERTIFICATE OF REGISTRATION # F~-11852

I
S 2
o o
= 0. o8
2 X =0
2 g &,
G Rlal >a
j v [&]
m v
EQ ©
B x
= o
o b
0. o
7l P
m

11/11/21|UPDATE TO 2018 IBC/IRC CODE

1

REVISIONS

o
<
a
o
4
6

DATE: 11/02/1

SCALE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
TX-4646

SHEET 6 oF 7

© 2016 R.W. BUILDING CONSULTANTS ING.



s 3 2X FRAMING (BY OTHERS) L b 0
2o ESati TR €, By
?"‘ % oz 6" ':I_\_‘ - E’ .: ‘--_:‘94; ‘ E; % gg
i°8 | (A = (vp) A S, aBY Gy ¢B o7
s B me) ST e Alide 8% 8571 (| 2oy 8t
| il il A ! sli PSS NE gg Eqo 2
- - — I op, T 2 W T 8o 53
S I I'TH l\\/ M1 ! % f;,/-., I 5 g_uq $§
EE HINGE - \‘ T : N i 2 g>m f
DETAIL 1 \-ﬂg T #10X 2.5 PFH \ DET * DETAIL 1 o B | S s 88% 2
. AlL 1 . — _ s Z LSRN @ § o
in WOOD SCREW N o= o : 5 X o Q%% o
< (TYP. @ HEAD S =5 £ E 5%¢ ¢
& AND JAMBS) =8 § 592 Ep
' - = 11 & 2 s = of
= X O t 0k
2 : R e
pa 3 . #8X2-1/2'PFHWS |3
tﬁ % [»]
SEE HINGE o ]
i " roll=
DETAIL 2 ' B — seesmue . #oX 1PrH WS S i ~~ #8X 3/4" PFH WS
PLATE DETAIL o — 4" X 4" HINGE 2
NI \ ®
Ny —————L * o W < Q
g% DETALL 1 DETAIL 1 | g |, 2
. » HINGE DETAIL 1 2 2=
] I INI T W1 | L = W
-4 (i 1) 1] A Y henddd m
N A 2 2B
| #8X2-1/2'PFHWS |G &
#10 X 2.5" PFH WOOD SCREW \ L1 = =
H ! 11 . - . (r <
FLOOR SUBSTRATE MATERIAL (TYP.) 1/4'X 2-3/4"DeWALTOR  crpive JAMB ) o E =
HINGE JAMB CONCRETE (MIN. 3000 PSi] FRAME A&gHORING ITW CONCRETE SCREW S ST #8 X 1" PFH WS él‘ [, SIF=F= #8 X 3/4' PFH Ws 0>
WOOD (G >=0.42) (WP @SiLy) T 4" X4 HINGE Sl
\ W
S
*NOTE: These additional anchors required for D.P. > 45 PSF. HINGE DETAIL 2 ;
S o
@ |Z
Q
2 @
& @.
e
b
CONCRETE ANCHOR NOTES: g
1. Concrete anchor locations at the corners may be adjusted to maintain the min. 2
edge distance to mortar joints. Q) m
2. Concrete anchor locations notfed as "MAX. ON CENTER" must be adjusted fo oz
maintain the min. edge distance to mortar joints, additional concrete anchors . - DEADBOLT SECURITY (NS
may be required to ensure the "MAX. ON CENTER" dimension are not exceeded. #8X 2-1/2" COURSE ) — STRIKE PLATE had I
3. Concrete anchor table: THREAD % #10 X 3" PFH WS - %
— RU——— E— DRYWALL SCREW Nl e 71702716
N #8 X 2-1/2" PFH WS —— LATCH STRIKE scAE  N.T.S.
T DETAIL 1 PLATE owe. B JK
" " - ¥ L H CHK. BY: LFS
TAPCON® 1/4 1-3/4 1-1/2 4 Integral mullion attachment STRIKE PLATE DETAIL ol
DeWALT " . " " TX—4646
ULTRACON-? A - ] h SHEET _7 oF _7

Z\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-851 Plastpro FG Opaque (LK,DB\C - Drawings\TX-4646.49.dwg

© 2016 R.W. BUILDING CONSULTANTS INC.



